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Choose the option which explains the following statement.
‘The new policy has left the middle class in the cold.’

Options :

1456341. ¥ The new policy allows sufficient provisions for the middle class.
1456342. ¥ The new policy ignores the welfare of the middle class.
1456343. ¥ The new policy is about the cold weather.

1456344. # The new policy leaves enough space for middle class.

Question Number : 2 Question Id : 1456342 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the option which explains the following statement.
‘Gaurav and Gyan worked for a long sunny day. We were down for the count by the evening.’

Options :

1456345. ¥ We set down to count our earnings.
1456346. ¥ We fell down due to the sunlight.
1456347. ¥ We were extremely tired.

1456348. ¥ By the evening we were refreshed.

Question Number : 3 Question Id : 1456343 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the option which explains the given proverbial expression.
‘A leopard doesn’t change its spots.’

Options :

1456349. % Basic nature cannot change.

14563410. # A Leopard’s spots are attractive.

14563411. ¥ Leopards do not change spots unless it is necessary.

14563412. # We ought not change opinions too frequently.

Question Number : 4 Question Id : 1456344 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



Choose the option which explains the given proverbial expression.
‘All lay loads on a willing horse.’

Options :

14563413. ¥ A horse is willing to carry loads forever.

14563414. # Good people are always appreciated.

14563415. # Hardworking people are given important responsibilities.

14563416. ¥ If you are sincere and hardworking, people take advantage of you. You’ll get more work to do.

Question Number : 5 Question Id : 1456345 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the option which explains the given proverbial expression.
‘Ask me no questions and I will tell you no lies.’

Options :

14563417. # Either ask me sincere questions or keep shut.

14563418. # I am tired of answering questions today.

14563419. ¥ Don’t ask me the question which I cannot answer honestly.
14563420. # You usually ask too difficult questions to tell a lie.

Question Number : 6 Question Id : 1456346 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is an antonym of FACILE?
Options :

14563421. # Obvious

14563422. # Hasty

14563423. ¥ Difficult

14563424, # Fair

Question Number : 7 Question Id : 1456347 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is an antonym of PROFLIGATE?
Options :

14563425. # Spendthrift

14563426. ¥ Frugal

14563427. # Extravagant

14563428. # Servile

Question Number : 8 Question Id : 1456348 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following is a synonym of ADJUNCT?
Options :



14563429. " Addition
14563430. # Detached
14563431. # Isolated

14563432. % Approved

Question Number : 9 Question Id : 1456349 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is a synonym of OBDURATE?
Options :

14563433. # Elitist

14563434, ¥ Adamant

14563435. # Supple

14563436. # Compassionate

Question Number : 10 Question Id : 14563410 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the right option to fill in the blanks.
Savita Ravi to get a bottle of

Options :

14563437. # sent; scant
14563438. ¥ sent; scent
14563439. # scant; scent
14563440. * send; sand

Question Number : 11 Question Id : 14563411 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Indicate the most appropriate option to fill in the blanks:
Seeing the on his skin, the young actor would loudly.

Options :

14563441. #* wale; veil
14563442, % wail; weal
14563443. # wail; wale
14563444. ¥ wale; wail

Question Number : 12 Question Id : 14563412 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Indicate the most appropriate option to fill in the blanks:
You may bring some wheat , and I’ll pluck the that you chose.

Options :
14563445. % floor; flower



14563446. # flower; floor
14563447. # floor; flour
14563448. ¥ flour; flower

Question Number : 13 Question Id : 14563413 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Indicate the most appropriate option to fill in the blanks:
I would send you the first of my report on the in my district.

Options :

14563449. # drought; draught
14563450. # draught; drought
14563451. # draft; draught
14563452, ¥ draft; drought

Question Number : 14 Question Id : 14563414 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Indicate the most appropriate option to fill in the blanks:
The workers must themselves the facilities provided by the company management.

Options :

14563453, % avail; of
14563454, # attain; with
14563455. # arrive; at
14563456. # avail; from

Question Number : 15 Question Id : 14563415 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Indicate the most appropriate option to fill in the blanks:
Dr. Saryu S. is appointed as an professor of Philosophy in Bhiwani.

Options :

14563457. # complement
14563458. # added
14563459. # appendage
14563460. ¥ adjunct

Question Number : 16 Question Id : 14563416 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Indicate the option which is suitable to fill in the blank.
Gopal was excellent at mimicry and singing. He is still very among his schoolmates.

Options :
14563461. # accepted



14563462. ¥ popular
14563463. # notorious
14563464. # conventional

Question Number : 17 Question Id : 14563417 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the option which can replace the word in parenthesis.
The teacher (persuaded) the student to work hard.

Options :

14563465. ¥ convinced
14563466. # brainwashed
14563467. # indoctrinated
14563468. # programmed

Question Number : 18 Question Id : 14563418 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the option which can replace the word in parenthesis.
Kanha is an adorable young man with a (exceptional) personality.

Options :

14563469. # strange
14563470. # weird

14563471. ¥ unique
14563472. % scarce

Question Number : 19 Question Id : 14563419 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the option which can replace the word in parenthesis.
Malini is such an adorable girl, I like her (relaxed) ways.

Options :

14563473. # irresponsible
14563474. ¥ carefree
14563475. # careless
14563476. % hasty

Question Number : 20 Question Id : 14563420 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the option which can replace the word in parenthesis.
If you find any issue with the project, you can always (talk about) it with me.

Options :
14563477. % discuss



14563478. # argue
14563479. # contest
14563480. ¥ dispute

Question Number : 21 Question Id : 14563421 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the most appropriate option that contains the following expression:
‘Girish is my friend. He is a doctor. Have I told you about that?’

Options :

14563481. # Have I asked you about my friend Girish who was a doctor?
14563482. # Did I informed you about my friend Girish who is a doctor?
14563483. ¥ Have I told you about my friend Girish who is a doctor?
14563484. # Did I tell you about my friend who is a doctor Girish?

Question Number : 22 Question Id : 14563422 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the most appropriate option that contains the following expression:
‘My father has shifted to a better paying job. He is not happy there.’

Options :

14563485. ® My father has shifted to a better job, so as he is not happy there.
14563486. ¥ My father has shifted to a better job, but he is not happy there.
14563487. ® My father has shifted to a better job, or he is not happy there.
14563488. # My father has shifted to a better job, either he is not happy there.

Question Number : 23 Question Id : 14563423 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the most appropriate option that contains the following expression:
‘We started playing hockey at 10:00 a.m. We are still playing.’

Options :

14563489. ¥ We have been playing hockey since 10:00 a.m.
14563490. # We had been playing hockey since 10:00 a.m.

14563491. # We have been playing hockey from 10:00 a.m.
14563492. ® We have started playing hockey from 10:00 a.m. till now.

Question Number : 24 Question Id : 14563424 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the most appropriate option that contains the following expression:
‘Komal packed her bags well in the morning. She left for Puna in the afternoon.’

Options :
14563493. # Komal packed her bags and left for Puna.



14563494. ¥ Komal had packed her bags in the morning before she left for Puna in the afternoon.
14563495. # Komal packed her bags in the morning before she had left for Puna in the afternoon.
14563496. ¥ Komal has packed her bags in the morning and have left for Puna in the afternoon.

Question Number : 25 Question Id : 14563425 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the most appropriate option that contains the following expression:
‘I am really tired. I’ll help you in your project.’

Options :

14563497. ¢ Even though I'm really tired, I’ll help you in your project.
14563498. # D'l help you in your project since I’m really tired
14563499. # Though I’ll help you in your project, yet I'm tired.
145634100. * I'm really tired so I’ll help you in your project.

Question Number : 26 Question Id : 14563426 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the most appropriate option to complete the following expression:
My new office constructed.’

Options :

145634101. # is currently been
145634102. # have been currently
145634103. * is currently under
145634104. ¥ is currently being

Question Number : 27 Question Id : 14563427 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the most appropriate option to complete the following expression:
Try doing sufficient practice multitasking on your part.

Options :

145634105. # so that it is
145634106. * however it may
145634107. #* so that it makes
145634108. ¥ even if it takes

Question Number : 28 Question Id : 14563428 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the most appropriate option to complete the following expression:
Prerna made a mistake her details in the form.

Options :
145634109. * when she used to enter



145634110. # then she entered
145634111. ¥ when she was entering
145634112. # while she have entered

Question Number : 29 Question Id : 14563429 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the option which is appropriately punctuated:

Options :

145634113. #® The basic needs are: bread, clothes, shelter.
145634114. ¥ The basic needs are bread, clothes and shelter.
145634115. #® The basic needs are bread, clothes, and, shelter.
145634116. # The basic needs are - bread - clothes and shelter.

Question Number : 30 Question Id : 14563430 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the option which is appropriately punctuated:

Options :

145634117. ¢ The Captain shouted showing a pen, “I want to know who’s got its cap?”
145634118. # The Captain shouted showing a pen, “I want to know who’s got it’s cap?”
145634119. # Showing a pen, the captain enquired that “who’s got its cap?”
145634120. ¥ The Captain shouted showing a pen, “I want to know who’s got it’s cap”?

Question Number : 31 Question Id : 14563431 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the option which is appropriately punctuated:

Options :

145634121. # “despite the pandemic,” The manager said, “the profits are satisfactory.”
145634122. ¥ The manager said, that the profits are satisfactory, despite the pandemic.
145634123. ¥ The manager said that the profits were satisfactory despite the pandemic.
145634124. ¥ The manager told, “The profits are satisfactory despite the pandemic”?

Question Number : 32 Question Id : 14563432 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the option in which the given text is appropriately punctuated:

dont stop at the first sign of knee pain staying active strengthening the muscles around the joint and developing good
movement patterns can alter and in some cases reverse the trajectory

Options :

145634125. ® Don’t stop at the first sign of knee pain - staying active, strengthening the muscles around the joint and
developing good movement patterns can alter, and in some cases reverse, the trajectory?

145634126. * Don’t stop at the first sign of knee pain staying active. Strengthening the muscles around the joint, and



developing good movement patterns can alter. And in some cases reverse, the trajectory.

145634127. % Don’t stop at the first sign of knee pain? Staying active, strengthening the muscles around the joint and
developing good movement patterns can alter and in some cases reverse the trajectory.

145634128. ¥ Don’t stop at the first sign of knee pain. Staying active, strengthening the muscles around the joint and
developing good movement patterns can alter, and in some cases reverse, the trajectory.

Question Number : 33 Question Id : 14563433 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the option in which the given text is appropriately punctuated:
my son explained my password has two As three 6s and two 4s Im quite alert against cyber frauds why are you so
worried besides this he also gave me some tips about digital transaction

Options :

145634129. ¥ My son explained, “My password has two As, three 6s and two 4s I'm quite alert against cyber frauds.
Why are you so worried?” Besides, this he also gave me some tips about digital transaction.

145634130. ¥ My son explained, “My password has two A’s, three 6’s and two 4’s. ’'m quite alert against cyber
frauds. Why are you so worried?”” Besides this, he also gave me some tips about digital transaction.

145634131. ¥ My son explained, My password has two A’s, three 6’s and two 4’s. I’'m quite alert against cyber frauds.
Why are you so worried? Besides, this he also gave me some tips about digital transaction.

145634132. ¥ My son explained my password has two A’s, three 6’s and two 4’s. I’m quite alert against cyber frauds,
Why are you so worried? Besides this he also gave me some tips about digital transaction.”

Question Number : 34 Question Id : 14563434 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the option in which the given text is appropriately punctuated:
im really happy with my performance said the runner i don’t think I left any stone unturned in preparing for this event
im going to win the next race also

Options :

145634133. % “I’m really happy with my performance,” said the runner, “i don’t think I left any stone unturned in
preparing for this event. I’'m going to win the next race also.”

145634134, # I’'m really happy with my performance. said the runner. “I don’t think I left any stone unturned in
preparing for this event. I’m going to win the next race also.”

145634135. ¢ “I’'m really happy with my performance,” said the runner. “I don’t think I left any stone unturned in
preparing for this event. I’'m going to win the next race also.”

145634136. # “I’m really happy with my performance.” said the runner. “i don’t think I left any stone unturned in
preparing for this event. I’'m going to win the next race also.”

Question Number : 35 Question Id : 14563435 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Arrange the following jumbled parts into a meaningful sentence:
p) that precedes the main verb

q) helping verb is

r) time, number and person.

s) an auxiliary verb

t) and conveys information about

Options :



145634137. % prtsq
145634138. #* qpsrt
145634139. ¥ qsptr
145634140. * ptsqr

Question Number : 36 Question Id : 14563436 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Arrange the following jumbled parts into a meaningful sentence:
p) insisted that I should return

q) It had been

r) since | had been away from

s) almost two decades

t) the hockey field and my friends

Options :

145634141. % qrspt
145634142. % tpsqr
145634143. % rsqtp
145634144, ¥ gsrtp

Question Number : 37 Question Id : 14563437 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Arrange the following jumbled parts into a meaningful passage:
p) If your child is struggling with low grades.

q) Don’t blame the child for it.

r) Also, remind them of the stories of your own struggle.

s) You need to trust your child.

t) Tell them how people succeed, instead.

Options :

145634145. % sqtpr
145634146. % pqrts
145634147. ¥ spqtr
145634148. * tqpsr

Question Number : 38 Question Id : 14563438 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the most appropriate option to complete the expression.
children like playing and dancing.

Options :

145634149. * Some of

145634150. * Most of

145634151. ¥ Most

145634152. # All of



Question Number : 39 Question Id : 14563439 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the most appropriate option to complete the expression.
The Erose Grand is hotel in the city.

Options :

145634153, # more expensive
145634154. ¥ the most expensive
145634155, # most expensive
145634156. * older

Question Number : 40 Question Id : 14563440 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the most appropriate option to complete the expression.
Deepa: Why do you want to shift from that building, Simmi?
Simmi: [ cannot the noisy kids of the neighborhood.

Options :

145634157. * put on with
145634158. * put out on
145634159. ¥ put up with
145634160. * put off at

Question Number : 41 Question Id : 14563441 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the most appropriate option to complete the expression.
“The police department is serious about traffic-related cases. They are planning to rash driving.’

Options :

145634161. ¥ come down on
145634162. # come up with
145634163. * come out of
145634164. ¥ come forward in

Question Number : 42 Question Id : 14563442 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the most appropriate option to complete the expression.
‘I'm those who do not listen to others.’

Options :

145634165. #* unable to get down to
145634166. * having aversion to
145634167. % not able to get away with
145634168. ¥ not able to get along with



Question Number : 43 Question Id : 14563443 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Choose the most appropriate option to complete the expression.
‘Roma and Roni used to be good friends. It’s shocking to hear that they J

Options :

145634169. #* get out
145634170. * sorted out
145634171. ¥ have fallen out
145634172. * have worked out

Question Number : 44 Question Id : 14563444 Question Type : MCQ Option Shuffling : Yes Is Question
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Choose the most appropriate option to complete the expression.
‘Initially, my mother used to be annoyed with us. Gradually she learned to our silly tricks.’

Options :

145634173. # take after
145634174. % come into
145634175. # play out on
145634176. ¥ play along with

Question Number : 45 Question Id : 14563445 Question Type : MCQ Option Shuffling : Yes Is Question
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Choose the most appropriate option to complete the expression.
‘I didn’t like my first job very much at the time but, it, it’s a learning experience.’

Options :

145634177. % looked to
145634178. ¥ looking back on
145634179. #* turn down
145634180. #* according to
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Question Numbers : (46 to 50)
Read the following passage and answer the questions.

Let us begin by asking what the historian in practice does when he is confronted by the necessity of assigning causes to
events. The first characteristic of the historian’s approach to the problem of cause is that he will commonly assign



several causes to the same event. Marshall the economist once wrote that ‘people must be warned off by every possible
means from considering the action of any one cause... without taking account of the others whose effects are
commingled with it . The examination candidate who, in answering the question ‘Why did revolution break out in
Russia in 19177°, offered only one cause, would be lucky to get a third class. The historian deals in a multiplicity of
causes. If he were required to consider the causes of the Bolshevik revolution, he might name Russia’s successive
military defeats, the collapse of the Russian economy under pressure of war, the effective propaganda of the
Bolsheviks, the failure of the Tsarist government to solve the agrarian problem, the concentration of an impoverished
and exploited proletariat in the factories of Petrograd, the fact that Lenin knew his own mind and nobody on the other
side did - in short, a random jumble of economic, political, ideological, and personal causes, of long-term and short-
term causes. But this brings us at once to the second characteristic of the historian’s approach. The candidate who, in
reply to our question, was content to set out one after the other a dozen causes of the Russian revolution and leave it at
that, might get a second class, but scarcely a first; ‘well-informed, but unimaginative’ would probably be the verdict of
the examiners. The true historian, confronted with this list of causes of his own compiling, would feel a professional
compulsion to reduce it to order, to establish some hierarchy of causes which would fix their relation to one another,
perhaps to decide which cause, or which category of causes, should be regarded ‘in the last resort’ or ‘in the final
analysis’ (favourite phrases of historians) as the ultimate cause, the cause of all causes. This is his interpretation of his
theme; the historian is known for the causes which he invokes.

Sub questions
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following options indicates the central theme of the given passage?
Options :

145634181. * A historian aims at establishing all the causes of history.
145634182. # The imaginative study of all the causes of history.

145634183. ¥ How does causation in history work?

145634184. # Considering the causes of the Bolshevik Revolution
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Which of the given statements are true in the context of the passage?

I. A true historian would feel but should not establish a hierarchy of causes.

II. A historian aims at subjective evaluation of history.

II1. Bolshevik Revolution was a result of multiple causes.

iv. The true historian would place the various causes in hierarchical order.

Options :

145634185. # Only I, I and III

145634186. #* Only 1T

145634187. * Only II, IIT and IV

145634188. ¥ Only Il and IV

Question Number : 48 Question Id : 14563449 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following statement(s)do(es) not follow?

I. A candidate must list down all the causes of a historical event to secure first position.
II. A true historian tries to reach the ultimate cause of history.



III. The ultimate cause is the objective cause of the event untouched by historian’s intentions.
IV. A historian deals with a multiplicity of causes and decides on the ultimate cause.

Options :

145634189. # Only II and IIT
145634190. ¥ Only I and III
145634191. % Only I
145634192. % Only I, II1, IV
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Which of the following factors imply in the passage?

I. History is objective in nature.

II. History’s subjectivity should be overlooked while reading a historical text.
II1. No causative aspect must be ruled out while reading history.

I'V. A historical narrative is shaped by a historian’s intention.

Options :

145634193. %* Only I, II and III
145634194. % Only III and IV
145634195. % Only Il and IV
145634196. #* Only II
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Identify the word from the passage which means opposite to ‘DISPERSED’.
Options :

145634197. # Confronted

145634198. * Hierarchy

145634199. ¥ Commingled

145634200. * Verdict
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A Derdodt
=
B. a0Ga00e
C. E}ocioﬂ’)&ﬁ:ﬁ?;]‘ci_‘:

D. &0y
Options :
145634353, % A.C.D.B

145634354, ¢ B. A, D, C
145634355. * C.D.B A

145634356, % 4. D. B, C



Question Number : 90 Question Id : 14563491 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Arrange the following jumbled parts into a meaningful sentence.

A D BFaobhe
B. D 89 21000 r6ad)
C. JocosdcT

D. SFricoe
Options :
145634357, % A B.D.C

145634358 % A C.B. D

145634359 « A, C. D, B

145634360, # A. B, C. D

Question Number : 91 Question Id : 14563492 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Arrange the following jumbled parts into a meaningful sentence.

A @oﬁo@éég
B. &0 DEoreD
C. ess®ir eoddd

D. Socsoes” DEODD) 9T Dy
Options :
145634361, ® C. B. A D

145634362, ¢ C. A.D. B
145634363, # A, C, D, B

145634364, # A.C.D.B



Question Number : 92 Question Id : 14563493 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Select the correct word in Telugu for.

Treasury Office
Options :

DR BPOR{RI000
145634365. ¢

| T5o £599972)
145634366. *

_ DE sroEteoiio
145634367. % ?E'

145634368. * 008D S‘U‘éuojjo

Question Number : 93 Question Id : 14563494 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Select the correct word in Telugu for-

North East
Options :

SHEEE0
145634369. ‘S

L arCddedto
145634370. * d

_esry oo
145634371. # ‘:L

145634372, % 20D

Question Number : 94 Question Id : 14563495 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Select the correct word in Telugu for.

Biological Mother
Options :

Sy 658
145634373. ¢ Al



145634374, % =

145634375. %

145634376. *

Question Number : 95 Question Id : 14563496 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Select the correct word in Telugu for-

Drainage Water
Options :
145634377, ¢ 00EMDID

145634378, % 0D DD
145634379, % QOOD DD

145634380, % SE0S DA

Question Number : 96 Question Id : 14563497 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Select the correct word in English for-

BT OGEIT0
Options :

145634381,  Biology

145634382, % Taxonomy

145634383, % Biod j.VE'l‘Si‘L'}r

145634384, v Ecology

Question Number : 97 Question Id : 14563498 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Negative Marks Display Text : 1/3 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

Select the correct word in English for.
@a‘.’}ar‘ﬁg‘l Cﬁ.}.}%}o

Options :

145634385, % External War

145634386, % ProXy War

145634387, ¢ Cold War

145634388, ¥ Absolute War

Question Number : 98 Question Id : 14563499 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Select the correct word in English for.

(o) o0
Options :
145634389 % Inclination

145634390, v Inflation
145634391, % Disinflation

145634397 % Inclemency

Question Number : 99 Question Id : 145634100 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

5P D) D) WKLY T ey o’ BB DTS Ee(D) (HBocsod.
Options :
- 53¢ DY DG DYy T &T) 00

oSt D)5 SRR D0y SO0
145634394, % =

265° DS DY vy €5
145634395, ¥ ) WR) DRy T



145634306, % 53 Dot (LF S6HDDOF 00

Question Number : 100 Question Id : 145634101 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Negative Marks Display Text : 1/3 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

oraroeo P8 86 Trabatod. S¢YS Drsjort Srcyol
Options :
45634307 OO0 Tho0d o°B) 3

iﬁ“@&é TP 030E0 TPF°CD
145634398, «

145634300 % TPOSI2ICE TP 03680 D"&:‘éé S

 TrATPOTER0 DHES mb&é TP OI02IR L)
145634400, # o





